
5.16 5186 2
2593 2593

1

On vérifie que 2593 est premier :
√
2593 ≈ 50, 92

2593 n’est divisible par aucun des premiers 2, 3, 5, 7, 11, 13, 17, 19, 23, 29, 31,
37, 41, 43, 47.

ϕ(5186) = ϕ(2 · 2593) = 5186
(

1− 1

2

) (

1− 1

2593

)

= 5186 · 1

2
· 2592

2593
= 2592

5187 3
1729 7
247 13
19 19
1

ϕ(5187) = ϕ(3 · 7 · 13 · 19) = 5187
(

1− 1

3

) (

1− 1

7

) (

1− 1

13

) (

1− 1

19

)

= 5187 · 2

3
· 6

7
· 12

13
· 18

19
= 2592

5188 2
2594 2
1297 1297

1

Vérifions que 1297 est bien premier :
√
1297 ≈ 36, 01

1297 n’est divisible par aucun des premiers 2, 3, 5, 7, 11, 13, 17, 19, 23, 29, 31.

ϕ(5188) = ϕ(22 · 1297) = 5188
(

1− 1

2

) (

1− 1

1297

)

= 5188 · 1

2
· 1296

1297
= 2592
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